
Psychology 492 Laboratory Homework  #3b  
    Name ________________________

 This one is a little different…  You have three studies that looked at the angular distortion effect (wearing goggles), each including a different personal or task aspect that might modify (interact with) the effect.

2x2 MG ANOVA Walk Through (  study2data.sav  
DV = Throwing error (how far from the target the bean bag landed)

IV #1 = Whether or not the participant usually wears corrective lenses (glasses) 

IV #2 = Whether or not participant is wearing goggles.

Thinking about the hypotheses…

· Change the labels (e.g., IV#1 & 2nd condition) to depict this research design.

	
	IV#2
	

	IV #1
	1st condition
	
	2nd  condition
	

	1st condition
	
	< = >
	
	

	
	^ ǁ v
	
	^ ǁ v
	^ ǁ v

	2nd condition
	
	< = >
	
	

	
	
	< = >
	
	


RH1: Participants will have higher throwing error when wearing goggles compared to when they didn’t wear them

RH2: Those who wear corrective lenses will have higher throwing error than those who do not wear them

RH3: The difference in throwing error between those who wear corrective lenses and those who do not wear them will be larger when not wearing goggles.

· Tell the two sets of simple effects involved in this design.

· Tell which set of simple effect will directly test the interaction research hypothesis

· Put in the pointies to depict the simple effects RH:  that describe the interaction RH: (leave the ## alone)

· Put in the pointies to depict  the main effect RH: of Wearing Glasses
· Does the interaction RH: suggest this main effect will be descriptive or misleading?

· Put in the <, > or = to depict  the main effect RH: of Wearing Goggles
· Does the interaction RH: suggest this main effect will be descriptive or misleading?

Doing the analysis …

Obtain the analysis and complete the table on the right (be sure to get marginal means from the EMMEANS).
	
	IV#2
	

	IV #1
	1st condition
	
	2nd  condition
	

	1st condition
	##
	
	##
	##

	
	
	
	
	

	2nd condition
	##
	
	##
	##

	
	##
	
	##
	



Interaction           F= ______________  df = ____, ________  MSe = __________ p = ​​​​​__________, r = ___________

     Computing the LSDmmd   k = ______  n = _______ dferror = _________ MSerror = ________   LSDmmd = ________

Use <, > & = to indicate the RH: and the results based on the EMMEANS pairwise comparisons.  Also indicate whether or not the RH: is supported for each. (Rem – you don’t have simple effects RH: for both sets of simple effects)
	
	No Glasses
	
	Glasses

	Pairwise comparisons (
	No  Goggles vs Goggles
	
	No  Goggles vs Goggles

	RH:
	
	
	

	EMMEANS results
	
	
	

	Support RH: ?
	
	
	

	r
	
	
	


	
	No  Goggles
	
	Goggles

	Pairwise comparisons (
	No Glasses vs Glasses
	
	No Glasses vs Glasses

	RH:
	
	
	

	EMMEANS results
	
	
	

	Support RH: ?
	
	
	

	r
	
	
	


    Considering the simple effect sizes, are you “content” with the EMMEANS results? ___________ Why or why not?

    Does the pattern of cell means match the interaction RH?  Completely  Partially   Not at all      Briefly explain your answer.

Main effect of Goggles         F= __________  df = ____, ________  MSe = __________ p = ​​​​​________, r = ________

   Considering the effect size, are you “content” with the main effect significance test? ___________ Why or why not?

   Does the pattern of marginal means match the RH?  Completely  Partially   Not at all      Briefly explain your answer.

   Now consider the simple effects of goggles. 

   Is this main effect RH: supported?  Completely  Partially   Not at all      Briefly explain your answer.

Main effect of Glasses  F= __________  df = ____, ____  MSe = __________ p = ​​​​​______, r = _______

   Considering the effect size, are you “content” with the main effect significance test? ___________ Why or why not?

   Does the pattern of marginal means match the RH?  Completely  Partially   Not at all      Briefly explain your answer.

   Now consider the simple effects of glasses. 

   Is this main effect RH: supported?  Completely  Partially   Not at all      Briefly explain your answer.

Your Turn #1: 2x2 MG ANOVA   




data set (study3data.sav
DV = Throwing error (how far from the target the bean bag landed)

IV #1 = Throwing skill level of the participant (high vs low)
IV #2 = Whether or not participant is wearing goggles

· Change the labels (e.g., IV#1 & 2nd condition) to depict this research design.

	
	IV#2
	

	IV #1
	1st condition
	
	2nd  condition
	

	1st condition
	
	< = >
	
	

	
	^ ǁ v
	
	^ ǁ v
	^ ǁ v

	2nd condition
	
	< = >
	
	

	
	
	< = >
	
	


Thinking about the hypotheses…

RH1: Participants will have higher throwing error when wearing goggles compared to when they didn’t wear them

RH2: Those with low skill level will have higher throwing error than those with high skill level

RH3: There will be an interaction with a goggle simple effect for high skill level but not with low skill level

· Tell the two sets of simple effects involved in this design.

· Tell which set of simple effect will directly test the interaction research hypothesis

· Put in the pointies to depict the simple effects RH:  that describe the interaction RH: (leave the ## alone)

· Put in the pointies to depict  the main effect RH: of Wearing Glasses

· Does the interaction RH: suggest this main effect will be descriptive or misleading?

· Put in the <, > or = to depict  the main effect RH: of Wearing Goggles

· Does the interaction RH: suggest this main effect will be descriptive or misleading?

Doing the analysis …

Obtain the analysis and complete the table on the right (be sure to get marginal means from the EMMEANS).

	
	IV#2
	

	IV #1
	1st condition
	
	2nd  condition
	

	1st condition
	##
	
	##
	##

	
	
	
	
	

	2nd condition
	##
	
	##
	##

	
	##
	
	##
	



Interaction           F= ______________  df = ____, ________  MSe = __________ p = ​​​​​__________, r = ___________

     Computing the LSDmmd   k = ______  n = _______ dferror = _________ MSerror = ________   LSDmmd = ________

Use <, > & = to indicate the RH: and the results based on the EMMEANS pairwise comparisons.  Also indicate whether or not the RH: is supported for each. (Rem – you don’t have simple effects RH: for both sets of simple effects)
	
	Low Skill
	
	High Skill

	Pairwise comparisons (
	No  Goggles vs Goggles
	
	No  Goggles vs Goggles

	RH:
	
	
	

	EMMEANS results
	
	
	

	Support RH: ?
	
	
	

	r
	
	
	


	
	No  Goggles
	
	Goggles

	Pairwise comparisons (
	Low vs High Skill
	
	Low vs High Skill

	RH:
	
	
	

	EMMEANS results
	
	
	

	Support RH: ?
	
	
	

	r
	
	
	


    Considering the simple effect sizes, are you “content” with the EMMEANS results? ___________ Why or why not?

    Does the pattern of cell means match the interaction RH?  Completely  Partially   Not at all      Briefly explain your answer.

Main effect of Goggles         F= __________  df = ____, ________  MSe = __________ p = ​​​​​________, r = ________

   Considering the effect size, are you “content” with the main effect significance test? ___________ Why or why not?

   Does the pattern of marginal means match the RH?  Completely  Partially   Not at all      Briefly explain your answer.

   Now consider the simple effects of goggles. 

   Is this main effect RH: supported?  Completely  Partially   Not at all      Briefly explain your answer.

Main effect of Skill Level  F= __________  df = ____, ____  MSe = __________ p = ​​​​​______, r = _______

   Considering the effect size, are you “content” with the main effect significance test? ___________ Why or why not?

   Does the pattern of marginal means match the RH?  Completely  Partially   Not at all      Briefly explain your answer.

   Now consider the simple effects of Skill Level. 

   Is this main effect RH: supported?  Completely  Partially   Not at all      Briefly explain your answer.

Your Turn #2: 2x2 MG ANOVA   




data set (study4data.sav
DV = Throwing error (how far from the target the bean bag landed)

IV #1 = Whether or not the participant practiced before donning the goggles 

IV #2 = Whether or not participant is wearing goggles

· Change the labels (e.g., IV#1 & 2nd condition) to depict this research design.

	
	IV#2
	

	IV #1
	1st condition
	
	2nd  condition
	

	1st condition
	
	< = >
	
	

	
	^ ǁ v
	
	^ ǁ v
	^ ǁ v

	2nd condition
	
	< = >
	
	

	
	
	< = >
	
	


Thinking about the hypotheses…

RH1: Participants will have higher throwing error when wearing goggles compared to when they didn’t wear them

RH2: Those who did not practice will have higher throwing error than those who practiced

RH3: There will be an interaction, with a practice simple effect of goggles but not without goggles

· Tell the two sets of simple effects involved in this design.

· Tell which set of simple effect will directly test the interaction research hypothesis

· Put in the pointies to depict the simple effects RH:  that describe the interaction RH: (leave the ## alone)

· Put in the pointies to depict  the main effect  RH:  of Practice before putting onGoggles

· Does the interaction RH: suggest this main effect will be descriptive or misleading?

· Put in the <, > or = to depict the main effect RH: of Wearing Goggles

· Does the interaction RH: suggest this main effect will be descriptive or misleading?

Doing the analysis …

Obtain the analysis and complete the table on the right (be sure to get marginal means from the EMMEANS).

	
	IV#2
	

	IV #1
	1st condition
	
	2nd  condition
	

	1st condition
	##
	
	##
	##

	
	
	
	
	

	2nd condition
	##
	
	##
	##

	
	##
	
	##
	



Interaction           F= ______________  df = ____, ________  MSe = __________ p = ​​​​​__________, r = ___________

     Computing the LSDmmd   k = ______  n = _______ dferror = _________ MSerror = ________   LSDmmd = ________

Use <, > & = to indicate the RH: and the results based on the EMMEANS pairwise comparisons.  Also indicate whether or not the RH: is supported for each. (Rem – you don’t have simple effects RH: for both sets of simple effects)
	
	No Practice
	
	Practice

	Pairwise comparisons (
	No Goggles vs Goggles
	
	No  Goggles vs Goggles

	RH:
	
	
	

	EMMEANS results
	
	
	

	Support RH: ?
	
	
	

	r
	
	
	


	
	No  Goggles
	
	Goggles

	Pairwise comparisons (
	No Practice vs Practice
	
	No Practice vs Practice

	RH:
	
	
	

	EMMEANS results
	
	
	

	Support RH: ?
	
	
	

	r
	
	
	


    Considering the simple effect sizes, are you “content” with the EMMEANS results? ___________ Why or why not?

    Does the pattern of cell means match the interaction RH?  Completely  Partially   Not at all      Briefly explain your answer.

Main effect of Goggles         F= __________  df = ____, ________  MSe = __________ p = ​​​​​________, r = ________

   Considering the effect size, are you “content” with the main effect significance test? ___________ Why or why not?

   Does the pattern of marginal means match the RH?  Completely  Partially   Not at all      Briefly explain your answer.

   Now consider the simple effects of goggles. 

   Is this main effect RH: supported?  Completely  Partially   Not at all      Briefly explain your answer.

Main effect of Practice  F= __________  df = ____, ____  MSe = __________ p = ​​​​​______, r = _______

   Considering the effect size, are you “content” with the main effect significance test? ___________ Why or why not?

   Does the pattern of marginal means match the RH?  Completely  Partially   Not at all      Briefly explain your answer.

   Now consider the simple effects of Practice. 

   Is this main effect RH: supported?  Completely  Partially   Not at all      Briefly explain your answer.
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